



**PRESS RELEASE**

**Salvatore Ferragamo S.p.A.**

**Information on Treasury Shares purchase transactions**

*Florence, February 4, 2022* – With reference to the plan for purchasing treasury shares passed by the Shareholders' Meeting held in ordinary session on April 22, 2021, whose launch has been also resolved by the Board of Directors held on September 7, 2021, as communicated to the market on the same date according to article 144-bis of the Consob Regulation adopted with resolution no. 11971/1999, Salvatore Ferragamo S.p.A. (EXM: SFER), parent company of the Salvatore Ferragamo Group, announces that it has purchased on the market Euronext Milan organized and managed by the Italian stock market Borsa Italiana S.p.A. on the day 28 January 2022 no. 13.677 Salvatore Ferragamo S.p.A.'s ordinary shares (ISIN code: IT0004712375), equal to 0,01% of the share capital, at an average unit price of Euro 18,6703 per share, for a total countervalue equal to Euro 255.354.

On the basis of information provided for by the entrusted intermediary, below there is a summary of daily purchase transactions made on the market EXM – Euronext Milan, in aggregate form:

| <b>Date</b> | <b>Number of Purchased Ordinary Shares</b> | <b>Average Unit Price *(Euro)</b> | <b>Countervalue (Euro)</b> |
|-------------|--------------------------------------------|-----------------------------------|----------------------------|
| 28/01/2022  | 13.677                                     | 18,6703                           | 255.354                    |

\* The gross average unit price is calculated as the average of the daily trading prices weighted for the quantities purchased during the day.

Following the purchases indicated above, as of today Salvatore Ferragamo S.p.A. holds nr. 1.687.900 ordinary Treasury Shares, equal to 1% of its share capital.

The daily details of performed transactions are attached to this Press Release.

# Salvatore Ferragamo

## **Salvatore Ferragamo S.p.A.**

Salvatore Ferragamo S.p.A. is the parent Company of the Salvatore Ferragamo Group, one of the world's leaders in the luxury industry and whose origins date back to 1927.

The Group is active in the creation, production and sale of shoes, leather goods, apparel, silk products and other accessories for men and women. The Group's product offer also includes eyewear, watches and perfumes, manufactured by licensees.

The uniqueness and exclusivity of our creations, along with the perfect blend of style, creativity and innovation enriched by the quality and superior craftsmanship of the 'Made in Italy' tradition, have always been the hallmarks of the Group's products.

With approximately 3,900 employees and a network of 409 directly operated stores (DOS) as of 31 December 2021, the Ferragamo Group operates in Italy and worldwide through companies that allow it to be a leader in the European, American and Asian markets.

\*\*\*\*

## **For further information:**

### **Salvatore Ferragamo S.p.A.**

**Paola Pecciarini**  
**Group Investor Relations**

Tel. (+39) 055 3562230  
investor.relations@ferragamo.com

### **Image Building**

**Giuliana Paoletti, Mara Baldessari, Alfredo Mele**  
**Media Relations**

Tel. (+39) 02 89011300  
ferragamo@imagebuilding.it

This Press Release is also available on the website <http://group.ferragamo.com>, in the section "Investor Relations/Press Releases".



Detail, on a daily basis, of the purchase transactions performed on 28 January 2022:

| Date       | Hour     | Number of purchased ordinary shares | Price (Euro) | Countervalue (Euro) | Market (MIC Code) |
|------------|----------|-------------------------------------|--------------|---------------------|-------------------|
| 28/01/2022 | 09:59:58 | 189                                 | 18,7         | 3534,3              | Euronext Milan    |
| 28/01/2022 | 09:59:58 | 311                                 | 18,7         | 5815,7              | Euronext Milan    |
| 28/01/2022 | 09:59:58 | 311                                 | 18,7         | 5815,7              | Euronext Milan    |
| 28/01/2022 | 09:59:58 | 189                                 | 18,7         | 3534,3              | Euronext Milan    |
| 28/01/2022 | 09:59:58 | 311                                 | 18,7         | 5815,7              | Euronext Milan    |
| 28/01/2022 | 09:59:58 | 311                                 | 18,7         | 5815,7              | Euronext Milan    |
| 28/01/2022 | 10:00:04 | 55                                  | 18,7         | 1028,5              | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 500                                 | 18,685       | 9342,5              | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 238                                 | 18,685       | 4447,03             | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 500                                 | 18,685       | 9342,5              | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 35                                  | 18,685       | 653,975             | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 465                                 | 18,685       | 8688,525            | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 262                                 | 18,685       | 4895,47             | Euronext Milan    |
| 28/01/2022 | 10:01:17 | 500                                 | 18,68        | 9340                | Euronext Milan    |
| 28/01/2022 | 10:02:02 | 202                                 | 18,68        | 3773,36             | Euronext Milan    |
| 28/01/2022 | 10:02:02 | 298                                 | 18,68        | 5566,64             | Euronext Milan    |
| 28/01/2022 | 10:02:02 | 1                                   | 18,675       | 18,675              | Euronext Milan    |
| 28/01/2022 | 10:02:02 | 499                                 | 18,675       | 9318,825            | Euronext Milan    |
| 28/01/2022 | 10:02:02 | 89                                  | 18,675       | 1662,075            | Euronext Milan    |
| 28/01/2022 | 10:04:16 | 411                                 | 18,66        | 7669,26             | Euronext Milan    |
| 28/01/2022 | 10:49:12 | 60                                  | 18,665       | 1119,9              | Euronext Milan    |
| 28/01/2022 | 10:49:29 | 49                                  | 18,665       | 914,585             | Euronext Milan    |
| 28/01/2022 | 10:49:29 | 391                                 | 18,665       | 7298,015            | Euronext Milan    |
| 28/01/2022 | 10:49:36 | 500                                 | 18,665       | 9332,5              | Euronext Milan    |
| 28/01/2022 | 10:53:43 | 59                                  | 18,665       | 1101,235            | Euronext Milan    |
| 28/01/2022 | 10:53:47 | 441                                 | 18,665       | 8231,265            | Euronext Milan    |
| 28/01/2022 | 10:53:47 | 500                                 | 18,66        | 9330                | Euronext Milan    |
| 28/01/2022 | 10:53:47 | 500                                 | 18,66        | 9330                | Euronext Milan    |
| 28/01/2022 | 10:53:47 | 500                                 | 18,66        | 9330                | Euronext Milan    |
| 28/01/2022 | 10:53:51 | 500                                 | 18,655       | 9327,5              | Euronext Milan    |
| 28/01/2022 | 10:53:51 | 500                                 | 18,655       | 9327,5              | Euronext Milan    |
| 28/01/2022 | 10:53:55 | 87                                  | 18,655       | 1622,985            | Euronext Milan    |
| 28/01/2022 | 10:53:56 | 413                                 | 18,655       | 7704,515            | Euronext Milan    |
| 28/01/2022 | 10:53:56 | 87                                  | 18,655       | 1622,985            | Euronext Milan    |
| 28/01/2022 | 11:03:43 | 132                                 | 18,66        | 2463,12             | Euronext Milan    |
| 28/01/2022 | 11:04:06 | 368                                 | 18,66        | 6866,88             | Euronext Milan    |

# Salvatore Ferragamo

|            |          |     |        |          |                |
|------------|----------|-----|--------|----------|----------------|
| 28/01/2022 | 11:04:08 | 27  | 18,66  | 503,82   | Euronext Milan |
| 28/01/2022 | 11:04:15 | 27  | 18,66  | 503,82   | Euronext Milan |
| 28/01/2022 | 11:04:16 | 134 | 18,66  | 2500,44  | Euronext Milan |
| 28/01/2022 | 11:05:16 | 312 | 18,66  | 5821,92  | Euronext Milan |
| 28/01/2022 | 11:05:16 | 260 | 18,66  | 4851,6   | Euronext Milan |
| 28/01/2022 | 11:05:16 | 500 | 18,66  | 9330     | Euronext Milan |
| 28/01/2022 | 11:05:16 | 32  | 18,66  | 597,12   | Euronext Milan |
| 28/01/2022 | 11:06:03 | 408 | 18,66  | 7613,28  | Euronext Milan |
| 28/01/2022 | 11:07:27 | 92  | 18,66  | 1716,72  | Euronext Milan |
| 28/01/2022 | 11:07:30 | 192 | 18,66  | 3582,72  | Euronext Milan |
| 28/01/2022 | 11:08:17 | 16  | 18,66  | 298,56   | Euronext Milan |
| 28/01/2022 | 11:08:17 | 500 | 18,655 | 9327,5   | Euronext Milan |
| 28/01/2022 | 11:08:17 | 413 | 18,655 | 7704,515 | Euronext Milan |